STOICHIOMETRY PROBLEMS #1
NAME ______________________

Show all of your work.  

1)
2H2O   →        2H2 (g)   +      O2 (g)

produced 20 g of oxygen.

______ g
______g 
20.0 g

2)
2H2O   →        2H2 (g)   +      O2 (g)

produced 20 g of hydrogen

______g
   20.0 g            ______g

3)
2H2O   →        2H2 (g)   +      O2 (g)

used 36 g of water
36 g

______g       
______g

4)
2H2O   →        2H2 (g)   +      O2 (g)

Total mass of products if 3 mol of water reacts


______g       
______g       
______g

5) 
2C2H6 (g)  +  7 O2 (g)  →   4CO2 (g)  +   6H2O (g)  
_____________ If we burned 640 grams of oxygen, how much ethane would be burned by mass? 

_____________ How much water would be produced? 

6) 
2C2H6  (g)  +  7 O2 (g)  →   4CO2 (g)  +   6H2O (g)  
_____________ If the volume of oxygen was 158.8 dm3, what would be the volume of the carbon dioxide 



gas?

7) _____________ What volume of O2 @ STP will react completely with 1 mole of SO2 for the reaction

 2SO2  (g)  +   O2 (g)     →   2SO3  (g)
8)_____________ What is the mass of SO3 produced if 256 g of O2 used for the reaction

2SO2  (g)  +   O2 (g)  →   2SO3  (g)
9) _____________ Aluminum reacts with a solution of copper ii chloride to produce copper metal and aluminum chloride.  What is the number of moles of copper produced when 4.30 grams of aluminum react?

10) _____________ What is the minimum number of moles of O2 needed to produce 1.0 mole of CO2 for the reaction: 

2CO  (g)  +   O2  (g)  →   2CO2  (g)    
11) _____________ What volume of O2 at STP must react to give 80 dm3 of CO2 at STP for the reaction: 


2CO  (g)  +   O2  (g)  →   2CO2  (g)
12) _____________ What volume of H2 @ STP is produced when 11.5 grams of sodium reacts for the reaction:  


2Na (s)  +  2H2O  →  2NaOH(aq)   +   H2 (g)   
13) _____________ What mass of water is needed to produce 22 grams of hydrogen for the reaction:
2Na (s)  +  2H2O  → 2NaOH(aq)   +   H2 (g)
14) _____________ What is the mass of SO3 produced when 5.6 dm3 of SO2 reacts for or the reaction: 

2SO2  (g)  +   O2 (g)  →   2SO3 (g)
15) _____________ When methane gas, CH4,  burns completely in oxygen, the products of the reaction are carbon dioxide and water.  What mass of oxygen must react in order for 4.25 grams of carbon dioxide to be produced? 
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